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Tracked steps
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Outline

< How to do the smoothing
= Recursive step segmentation

» Results

Reproducible research: A Matlab implementation of the
suggest algorithm and data sets are available at
http://www.openshoe.org
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Initialization: x, < E[x¢]|. Py < cov(xo)
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Recursive segmentation
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3-pass algorithm
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Estimated trajectory
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Results

Tracked steps

—— Smoothed steps

| — Causally estimated steps
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Conclusion

= A 3-pass smoothing algorithm for ZUPT-aided INS has
been suggested.

= A recursive step segmentation for near realtime
Implementation has been suggested.

= Shown that step-wise smoothing give the same
results as smoothing of the whole dataset

= The system has been shown to be insensitive to the
linearization point
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